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l. 3—- X8-— =
(i) 251 (i) 281 (iii) 291 (')271 ()261
| - 1 - 11 - v - \ -
12 12 12 12 12
5
2. 8- +1- =
8

(i) 7-3 (ii) 4-3 (iii) 6-3 (iv) 3-3 (V) 5-3
13 13 13 13 13

4
3. The reciprocal of 5 is

(i) > (ii) ! (iii) (-_3) (iv) 3-1 (v) 2-1
[ 4 ii 4 iii 4 iv 4 % 4
e 1.

4. The multiplicative inverse of-2- is
(i) 4 (ii) O (iii) 3 (iv) 1 (v) 1

8 .
5. — ofld4is
9

(i) 113 (ii) 138 (iii)) 118 (iv) 128 (v) 143

8 .
6. — of is40
3

(i) 25 (ii) 5 (iii) 15 (iv) 0 (v) 30

7 7
7. Find the missing value in — X =-
19 —— 57
(i) ! (i) (_1) (iii) ! (iv) 1
i) — (i) (- i) — (v
5 3 3
. i . 6 13
8. Find the missing value in — + =-
9 —— 18
(i) 10 (i) . (iii) 12 (iv) . (v) 12
i) - i) — (i) - iv) - v) -
13 5 13 13 11
. . .16 160
9. Find the missing value in 3 X =- 9

. .. .. 10
(i) 10 (ii) 4 (i) 2 (iv) - (v)



10. Find the missing value in — =+ =
15 —— 27
. . L1111 9 9
(i) 3 (i) (iii) (iv) — (v) 7
) o ) 1 31
11. Find the missing value in9 — X =138-
10 — 40
(i) 153 (i) 143 (iii) 151 (iv) 15l (v) 151
i - i - iii - iv - (v -
4 4 4 6 2
, o ) 7 635
12. Find the missing value in10 — =+ = -
12 ——— 771
(i) 12 19 (i) 12 17 (iii) 12 17 (iv) 12 17 (v) 123
i - i - iii - iv - v -
20 20 22 18 4
13. Which of the following is true?
.3 1 3 15 2 30 . 8 4 16
(i) =X==3= (ii) —+—="- (iii) — +—=- (iv)
5 6 5 17 19 323 10 9 45
14. Which of the following is true?
32 10 12 28 11 37 .. 16 17 57
(i) +— =4 (i) ——+—=- (iii) — +-—=
5 7 25 17 8 136 7 11 77
15. Which of the following is true?
. 11 3 19 11 9 69 .
(i) 30— +24-— =6- (ii) 22— —-4-— =27 (iii) 21
12 5 60 14 19 266
2 7 131
(v) 20— —17 =37
15 13 195
1
16. — X5 =
5
(i) 2 (i) -1 (iii) 4 (iv) 0 (v) 1
5
17. +2=
12 -
(i) > (ii) (iii) (iv) (v)
22 24
10
18. X2 =
1 -
(i) 19 (ii) 20 (iii) 23 (iv) 18 (v) 21
12
19. — +10=
11 -
(i) ° (ii) (iii) (iv) (v) 2
i) - ii iii iv) - V) -
55 55 19

17

10 1 1 3 1
+—=1= (v) X —=1-
18 2 9 20
) 1 37 29 17
(iv) + - =- (v) — =4-
10 4 13 116

, 7 1 5
(iv) 31-+22-=9
9 2 18



20.

21.

22.

23.

24.

25.

26.

27.

1
12 - X8 =
3

298

(i) 98 (ii) 296 (iii) 296 (iv) 296 (v)
3 5 3

1
13- +9=
2

(i) > (i) > (iii) > (iv) 3 (v) :
4 2 2 2

14X - =
7 —

(i) 12 (i) 11 (ii) 15 (iv) 13 (v) 9
1

20+ - =
6 ——

(i) 121 (i) 119 (iii) 120 (iv) 123 (v) 118

15
14 x =
13 —
(i) 212 (ii) 219 (iii) 210 (iv) 14 (v) 16
i 13 i 11 iii 13 iv v
16
4 + =
11 —
(i) 2 (")-11 (iii) 1 (iv) = (v) L
i 4 ii > iii = iv 4 v 4
1
9Xx8—- =
9

(i) 72 (i) 73 (i) 70 (iv) 74 (v) 76

13
14+3= =
15

(0) 35 (i 107 (i) 105 (iv) 103 ) 105
9 29 29 29 31



Assignment Key
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7) (iii) 8) (iii) 9) (iv) 10) (iv) 11) (iii) 12) (ii)
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